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CDS Exam(IT):201!

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SDC-S-SND ' Test Booklet Series

Serial No.

TEST BOOKLET
GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response, which you consider the best. In any case, choose ONLY ONE response for
each item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.
All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.
10.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(ii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Which one of the following gases is
released mostly from landfills in urban
areas?

(a) Nitrogen
(b) Hydrogen
(c) Methane
(d) Oxygen

Which one of the following is most
sensitive to environmental change?

(@) Amphibian
(b) Reptile

(¢) Mammal
(d) Insect

Which one of the following is the largest
source of electricity in India?

() Hydropower plants
(b) Nuclear power plants
(c) Thermal power plants

(d) Wind energy

The HIV virus weakens the immunity of a
person because it destroys

(a) mast cells
(b) platelets

(c) erythrocytes
(d) lymphocytes

Which one of the following air pollutants
combines with the haemoglobin of
human blood and reduces its oxygen-
carrying capacity, leading to suffocation
and may cause even death?

(a) Chlorofluorocarbon
(b) Fly ash

(c) Carbon monoxide
(d) Sulphur dioxide

SDC-S-SND/1A

6. An

irregular mode of reproduction
resulting in the development of an
embryo without fertilization is called

1. Parthenogenesis
2. Apogamy
3. Sporophytic budding

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) 2 and 3 only
(d 1, 2 and 3

7. Which one of the following is not an

8.

allotrope of carbon?
(a) Coal

(b) Diamond

(c) Graphite

(d) Graphene

In paper manufacturing, degumming of
the raw material is done using

(a) sulphuric acid
(b) bleaching powder
(c) caustic soda

(d) nitric acid

9. Dolomite powder is applied in some

agricultural lands.
applying it is to

The purpose of

(a) increase the pH of the soil
(b) lower the pH of the soil

(c) increase the phosphorus content
of the soil

(d) increase the content

of the soil

nitrogen
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2. frafafad § & F9-a1 & el Wad ¥
gfa Gaifies Heesiia 87
(a) BHI
(b) wlga
(c) a9
(d) e

3. Frfafead & @ ®F-w1 & wra § forpq =1
e ST A 87
() TA-Torstelt 9=
(b) iR forsteft w9
(c) W-ﬁgﬁ'{ﬁﬁ
(d) T e

4. HIV foum feedt safe A Quamar fFa TR
FHAR H 7
(@) TEQH HIRTHI I T8 Hh
(b) UfEHMRT (Wieeie) 1 T8 i
(c) T hl T Hh
(d) RIS Hl T8 Hh

5. f=fafad 4 @S- % 97 YU THa Th
& EHTISE 9 Y AN B A e o
9™ I FEh HEAr A Rl §, ol
EENY BT 8 3R Ty oft | TRt 77
(@) FARTFRIHARIEE
(b) A
(c) e THIFTES
(d) TR STFITFIES

SDC-S-SND/1A

6. S dl wH At fafa, Fee giomesy

em & o & yo w1 fam @ g, @

FHEAT &7

1. rfuesmH (neimRE)

2. g (Yai)

3. fi-3gfidEm P (WREERS
sife)

419 R T e B g = Ed I g
(@) Had 1

(b) FHAA 2

(c) Faq 2 IR 3

(d 1,233

7. Trafafaa & @ F9-91 TF FET FH TREY

LR

(@) I

(b) B

(c) fafas (Awre)
(@) AHH

8. s T A, %= 7rer &1 foriied formes v

Y fopan wman &7

(@) TR 3+

(b) T <ol

(c) <TES WSl (Hifeesh Hier)
(d) Efeeh st

9. SamEe Ui 1 WA FS HW Rl § for

ST & | 39 AN <l 4T Ie9E Bl €7
(@) a1 % pH @l SGHI

(b) T& % pH B FH HAI

(c) V&1 h BEHRE AHT I FGHI
(d) a1 T ATELISH HHAT B SGHI

P, 0
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10. Deficiency of fluoride leads to which one

of the following health problems?
(a) Tooth caries

(b) Mottling of tooth

(c) Bending of bones

(d) Stiffening of joints

11. Excessive use of which of the following

fertilizers may be responsible for the
presence of a toxic substance in
groundwater?

(a) Nitrogen
(b) Phosphate only
(c) Potassium only

(d) Phosphate and potassium

12. Which one of the following elements

does not form solid hydrogen
carbonate?

(a) Sodium
(b) Potassium
(c) Caesium

(d) Lithium

- 13. According to Census 2011, which one of

the following is the correct sequence of
States in decreasing order of their total
size of population?

(a) Kerala, Jharkhand, Assam, Punjab
(b) Jharkhand, Kerala, Assam, Punjab
(c) Kerala, Jharkhand, Punjab, Assam

(d) Jharkhand, Kerala, Punjab, Assam

SDC-S-SND/ 1A

14. With reference to earthquakes, which of

the following statements are correct?

1. Earthquakes largely occur along
the converging plate boundaries.

2. Point of origin of earthquake in
lithosphere is known as focus/
hypocentre.

3. Intensity of earthquake decreases
with distance from the epicentre.

4. Epicentre of earthquake always
remains over continents only.

Select the correct answer using the code
given below.

(@) 1 and 2 only
., 2 and 3
(c) 2 and 3 only
(d) 1 and 4

15. Which of the following pairs of Indian

State and tribal population are correct?
1. Madhya Pradesh : Largest tribal
population

2. Mizoram : Highest percentage of
tribal population out of the total
population of the State

3. Chhattisgarh : Second largest
tribal population after Madhya
Pradesh

4. Arunachal Pradesh : Second highest
percentage of tribal population
out of the total population of the
State after Mizoram

Select the correct answer using the code
given below.

(@@ 1 and 2 only
(b) 2 and 4 only
(¢ 1,2 and 3
(d 2,3 and 4
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10. frafafas 4 @ - & wWrem e 14, s % & #, FHfaied § & ®H-8 %

TeiRTEe 1 HH  HROT et 77 el 77
(@) 3id 1 &R O A e I
) aftfirett % gHHER A 2
CRLE 2. WIS H H H IF H g
(c) ATERT I b ST 73/ a5 FEAT B
(d) S RS 3. o il digan iR @ g % W™
' ' Hedl B
11. Freffen <@ 3 ¥ e & @ ol 4. R R AEE Wed WEEH RO
S e T s e A e e 8|
% for e &) wera 37 R fow g 2 1 v wd s gRu)
(@) IS (@) Faw 1 3R 2
(b) e HIEHE () 1,233
(c) e difEram (c) Faa 2R3
(d) HEhe 3R MeRrm (@ 1R4
12. ffafEd ol § § FH-91 TF, 39 TRISA 15. 9RA T IR SASTER sHee & Frafalaa
HrEE @ T 27 A | BH-9 SIS 9@ 77
() Cifem 1. HEANQW : HallSh S SHEE]
. 2. Tl : = & a1 SHEE § SHEE
(b) ' ST 1 iR giasd
(c) Hifsrm 3. THWIG : HET YW % ARG O AfHaH
(d) <hfem TSI SHEEAT Tt TS
4, ST YW : BNIE % 9R T A
AT § ¥ S SHEE 6l
13. 2011 H SFOET F FgER, frEfafea & 9 D ET
Pa-th T Aoft T F IR Fel A H SftraH S‘IE'S'E'E“%W@“W
T §U A | W 77 = fo MY e w1 T W EE W g
(@) ¥, FREVE, IFGH, TGS (@ ¥Faa 1 3R 2
(b) FREUE, T, IFFH, YN (b) Fad 2 3N 4
(c) A, ARGV, GoITH, A (¢ 1,293
(d) FREUS, e, Yo, A @ 2,334
SDC-S-SND/1A 5 [P.T.O.
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16. The spring constant of a spring depends
on its

(@)
(b)
(c)
(@)

length only
material only
length and its diameter

thickness, its diameter and its

material

17. In the gamma decay of a nucleus

(@)

(b)

(c)

(@)

the mass number of the nucleus
changes whereas its atomic
number does not change

the mass number of the nucleus
does not change whereas its atomic
number changes

both the mass number and the
atomic number of the nucleus
change

neither the mass number nor the
atomic number of the nucleus
changes

18. In a bipolar junction transistor

(@)

(b)
()

(@)

19. The

all the three regions (the emitter,
the base and the collector) have
equal concentrations of impurity

the emitter has the least concen-
tration of impurity

the collector has the least concen-
tration of impurity

the base has the least concen-
tration of impurity

pressure exerted by a 760 mm

column of mercury at 0 °C is known as

(@) 1 pascal
(b) 1 atmosphere
(c) 1 bar
(d) 1 poise
e ANCESESNDUIR . e il e

20. Which one of the following physical
quantities has the same dimensions as
that of Planck’s constant h?

(@)
(b)
(c)
(d)

Linear momentum
Angular momentum
Force

Potential energy

21. Which one of the following statements is
not correct?

(@)

(b)

(c)

(@)

The response of the ear to
sound of increasing intensity is
approximately logarithmic.

The sensitivity of the human ear
does not vary with the frequency of
the sound.

When two or more waves
traverse the same medium, the
displacement of any element of the
medium is the algebraic sum of
the displacements due to each
wave.

Longitudinal waves can travel in all
media—solids, liquids and gases.

22. Which one of the following hormones is
essential for the uptake of glucose by
cells in the human body?

(@)
(b)
(c)
(@)

GH

TSH

Insulin

Cortisol
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16. fpeft Furt w1 FAA ferE e w R 20, fr=fafea ifos aRmi 4 | frg e H fmmd

Tl ek fradie Sl femett % wm i 87
() I IGhH! TAETE T i Wit
Fae 3P Ta1e
(b) a1 W o
(c) 3TH TR IR Ih AW |
(@) Suh e, e AW o 3w v W (c) =
(d) Terfas =i

17. et i & 7 &/ 3§ R B B 7

(@) TiF I FEAF-GE deadl @ Sl

_ 21. T=fafaa 7 @ F9-91 T A T8 TE 27
ThT TRHTY-SHHT Rl Seedl B |

(b) T B FEEE-gEn 7€ eod @ (a)%aﬁﬁﬁaﬁ?ﬁgﬁ?ﬁamaaqﬁumaﬁ
eIl SHeRT AT -FHHI Seerd B | _;}Rﬁ!ﬁ%%m A AP (eAnie)
|
(c) TR i FANH-TEA SR THTI-SHHI
M| Seed B | (b) WA FE h GagAieral @ il gh
(@) = A T 6 TR -G aeed § iR % Ty e Saed B

A 8 A -HHH STl | (c) & QA A Y S N TH & Hew

Todl §, A 39 HeAA & fed) orage

18. foreft fougea wiftr ZifSe # =n € @7 fooTq 36 W% T gRI gY Tt %
(@) W & (IEsid, W iR wee) A <fisf 9 % R A B |
S RISl (@) ITgee Th at memi—3, 39 3R ™
(b) Seasi H g i STeuaH wigan A B A =e Tl & |
(c) HuTEH A e hl AeqTH Hisal B < |
(d) S8 ey i STeqad diEal gl gl 22. frfafea # @ $9-w gHH, 9Ma R F
FRHAT T THS k@i & g
19. 0°C W URE % 760 mm FIcH FRI T el Sifar 27
TTel 1 HEeTdl 87 T
(@) 1 A
B 1 (b) o THo To
(€ 1R (c) g
(d) 1S (d) Hifedia
SDC-S-SND/1A 7 [P.T.O.
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23. Which of the following cells do not 26. Match List-I with List-II and select the
contain nucleus? correct answer using the code given

1. Root hair cells below the Lists :

2. Red blood cells List-T List-IT

3. Platelets (Element) (Property/ Use)

4. Monocytes A. Mg 1. Gives red colour to flame
Select the correct answer using the code B. Ca 2. Sulphate compound used

iven below. 2 i ;
g in medicine to examine the

alimentary canal of a

(@) 1 only
patient
(b) 2 and 3 only . ;
C. Sr 3. Traps the energy of sunlight
(c) 1,2 and 4 in photosynthesis
(d 2,3 and 4 D. Ba 4. Control of muscle
contraction
24. Biological catalysts are protein molecules
which Code :
1. speed up a chemical reaction (@ A B C D
2. remain unchanged after reaction 2 & 1 8
3. function optimally at 37 °C (b) A B C D
4. do not have an enzymatic activity 2 1 4 3
Select the correct answer using the code (c) A B C D
given below. 3 4 1 2
(@) 1 only (@ A B C D
3 1 4 2

(b) 1,2 and 3

(€l 2= S enly 27. Which one of the following statements is

(d 1, 3 and 4 correct?

(a) The oxidation number for hydrogen
25. ‘Altitude sickness’ is caused at high is always zero.

altitude due to
(b) The oxidation number for hydrogen

(a) high partial pressure of oxygen is always +1
(o) low pertiel pres@ete of oxygen (c) The oxidation number for hydrogen
(c) low level of haemoglobin is always -1
(d) high partial pressure of carbon (d) Hydrogen can have more than one
dioxide oxidation number.
. SDC-S-SND/1A - 8- = SRR M —
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23. frfafan # @ f SRRl § TR T 26, TH-1 9 G- @ gAfw BT o gRe

e &7 = T 7Y g2 F1 T R TH IW g
1. H& UH IR
2. I T FIRTH Te-1 TeA-11
5 e (=) (ot /=)
4, TR (AR A. Mg 1. @rE 1 A @ R
B. Ca 2. fufre # wothe Dfis 1 3TE
T P T e e T B A
(@) Fad 1 i | BT ®
(b) Had 2 IR 3 C. Sr 3. YehmI-Hvenvl § g % Wb
W 1,0 Sl I Ushet Tl &
a8, dla D. Ba 4. HEUN GFEA H HEE
. ey
24, S I, A 37 B 8, S o E B d G
1. T AR ® a9 W ed § 2 4 1 3
2. arfifsan % =18 efafdd wa & W A B € D
3. 37°C W 3TaH &M +d ¢ 2 1 4 3
4, usTeH wishaar TE qwiia g ©) A B C D
= R T e F1 M W @ W g 4 4% 4 2
(@ ¥ 1 (@ A B C D
8 @ 4 B
(b) 1,2 3R 3
(c) Fad 2 3R 3 27. Trafafad § @ F9-91 T FeH g R?
(d 1,3 R4 (@) TEER F oy safa % 9 T
Bl 2
25. ;;Tm;?fmrﬁ i o W BN § | TR BRI . N S
' B 2
(@) IS Bl IA ARH & st s
. . (c) ETEGISH S IELiCAU ICED |
(b) SATFdIsH 1 = i g A 2
fe)  ETAITa 1 e TR (d) TTEESH % TH A At S 3
(d) A SRATHIZS ol I AR To1E B Hhd B
SDC-S-SND/1A o [P.T.O.
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28. In case of a standard hydrogen electrode

(a) absolute electrode potential is
not zero

(b) absolute electrode potential is zero

(c) both absolute and standard
electrode potential values are zero

(d) electrode potential is zero only at
25 °C

29. The elemental composition of an adult
human body by mass is

(a) €3>03H>N
(b) O>C>H>N
(c) N>C>H>O0
(d N>C>0>H

30. With regard to water transportation in
India, which of the following statements
are correct?

1. Headquarters of Central Inland
Water Transport Corporation is
located at Delhi.

2. Headquarters of Inland Waterways
Authority of India is located at
Noida.

3. National Inland Navigation
Institute is located at Kolkata.

4. First National Inland Waterway was
between Haldia and Allahabad.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 2 and 3

(c) 2 and 4 only
(d 1, 2 and 4

SDC-S-SND/1A

31. If the latitude and longitudinal extent
of an Indian State/UT is 15°48°00"' N
to 14°53’15' N: and 74°20°13’E to
74°40’33’" E, then which one of the
following is that State/UT ?

(@)
(b)
()
(@)

Puducherry
Chandigarh
Goa

Delhi

32. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT

(Railway Zone) (Headquarters)

A. North Eastern Railway 1. Kolkata

B. East Central Railway 2. Bilaspur

C. South East Central 3. Hajipur

Railway
D. Sauth Eastern 4. Gorakhpur
Railway
Code :
(@) A B € D
4 2 3 1
(b) A B C D
1 3 2 4
(c) A B C D
1 2 3 4
(d)
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28. TH HIHH BESISH SF2IS & HHA § 31. IR Tl wRdm TsE/FE W WRW W

Few SR dwal™ IR 15°487007’ N
() Tty sawgie foe v 7 2 & A 14°53’15’N 3R 74°20’13”E @

(b) ety sorre e = g @ 74°40’33"' E %, @ Ffafed § @ o8 71/
. F5 R TS HH-TT 87
() Taly 3R AW IH TER F oS .
(d) FeEE f9va Faad 25 °C W I Bl B p” .
29. TF JIEF WA THR 1 ql(eich GASH Fea7H b (c) T
3FER fohe YR B 87
(@) @

(a) C>O>H>N

() O>C>H>N

32. -1 &I -1 ¥ gafera Hifsg iR gt &

(¢) N>C>H>0

Fr fw T %2 1 TR W T W AT
(d N>C>O0>H
-1 HEi-11
30. WRd ¥ vid Uieed % wey # frAfafed d ® (Y1 woew) (yearea)
-3 o A. IR-GH W 1. Il
1. *HEF Iddey™ Sd uiagd M
e & o 21 B. Yd-#eA WA 2. foemag
2. Wil sidE e wRE @ C. m-g@raAE 3. TR
eI el 7 R R | D. afior-gdff 3w 4. TRER
3. TS iddf AETed HEH whIerRral
7 R R RE
4, YU T Iiqeyg Semm wfeean 3R @ A B C D
TATEETE o &9 ol 4 2 8 1
= T T F2 T 7AW T IR AT () A B C D
1 8 2 4
(@) I 1 AR 2
; ) A B C D
) 2R3 i1 2 5 4
(c) et 2 3R 4
@A B © D
(d) 1,2 3R 4 4 8 2 1
SDC-S-SND/1A 11 [P.T.O.
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33. Which of the following statements
concerning atmosphere of the Earth are
correct?

1. In stratosphere, temperature
increases with altitude.

2. In mesosphere, temperature
decreases with altitude.

3. The lowest temperature of the
atmosphere is recorded in the
upper part of mesosphere.

4. Tropopause is an isothermal zone.

Select the correct answer using the code
given below.

(@)
(b)
()
(@)

34.

1 and 2 only
1, 2 and 3 only
3 and 4 only
1, 2, 3 and 4

Match List-I with List-II and select the

correct answer using the code given
below the Lists :

List-1 List-II
(Place) (Industry)
A. Bongaigaon 1. Paper
B. Koraput 2. Machine tools
C. Pinjore 3. Aircraft
D. Sirpur 4, Petrochemical
Code
(@ A B C D
4 2 3 1
(b) A B (©: D
4 3 2 1
(c) A B C D
1 2 3 4
(a A B C D
1 3 2 4

SDC-S-SND/1A

12

35. Which one of the following is not a
tributary of the river Ganga?

(@)
(b)
()
(@)

Son
Mahananda
Teesta

Sharada

36. Which one of the following pairs of lakes
is connected by Soo Canal?

(@)
(b)
(c)
(@)

Superior and Michigan
Superior and Huron
Huron and Ontario

Huron and Erie

37. In total internal reflection, the light
travels from '

(@)

(b)

(c)

(d)

38. The

rarer to denser medium and it
occurs with no loss of intensity

denser to rarer medium and it
occurs with no loss of intensity

rarer to denser medium and it
occurs with loss of intensity

denser to rarer medium and it
occurs with loss of intensity

energy of a photon, whose

momentum is 10 MeV/c, where c is the
speed of light, is' given by

(@)
(b)
(c)
(d)

10 MeV
100 MeV
1 MeV

0-1 MeV
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33. el % AgAved % Hew A Fmfafea # @ 35. frfafaa & @ ®F-d & 70 A gEEE T4

HH-Y FHF T 7 7 v7
1. OHAURUSA H AR % WY A9HH (@ |H
<Gl |
(b) WHEH=I1

nwmaﬁmﬁsmﬁmmm%l

3. AYAUSA F AAH AIHM HEHUSE h (c) fowm
U0 9T § St TR ST § ) (d) IRET
4, &l (ZTE) T gHaTd & R
36. Tfafad # & ®H-w1 el &1 Sel G T8¢ 1
R few MY e wEE W wE IR gAY e &7
(@) Fad 1 3R 2 y o
(b) A 1, 2 3N 3 2 : i
(c) Faa 3 AR 4 ’ gv & Ll
d 1,2, 334 'd S
(@) T R
34. -1 1 G-I ¥ gafea AR ok gl % . .
1 T T F2 1 TE W FE IR T 37. Ui idfh e § SR
(@) ToRa ¥ qoq megm § Sar @ iR e
-1 -1 1 afi % for T B 3
(rm) (z=m) (b) T ¥ fora mem ® S g IR e
A. anméfE 1. & ) &fq % fomn ww S @
B. NI 2. Tt SR (c) Tora | woq wegw § Sar @ MR e
c. fieir 3. 9FEM 1 & % W T A
D. RRE 4. YeREmE (YorhfEd) (d) @R ¥ fora megw # ST @ SR s
) 6 &fa & w1 W B
e
@ A B C D 38. T GIe, fS@H T 10 MeV/c B, W& ¢
& 2. 8513 T Hl A R, B W TAES TR WR
) A B C D et 87
LA (@ 10 MeV
() /i‘ 123 g 4D (b) 100 MeV
@ A B C D (c) 1 MeV
L .8 - B-8 (d) 01 MeV
SDC-S-SND/1A 13 (B T/0.
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39. Liquids and gases never show
(a) diamagnetic property
(b) paramagnetic property
(c) ferromagnetic property

(d) electromagnetic property

40. Light travels in a straight line (rectilinear
propagation of light). This statement
does hold if the medium of travel for
light is

(a) of variable refractive index

(p) made up of slabs of different
refractive indices

(c) homogeneous and transparent

(d) inhomogeneous and transparent

41. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-IT
(Strait) (Water Body)
A. Strait of Hormuz 1. Java Sea
B. Strait of 2. Andaman Sea
Bab-el-Mandeb
C. Strait of Malacca 3. Red Sea
D. Strait of Sunda 4. Gulf of Persia
Code :
(@) A B C D
4 2 3 1
(b) A B C D
1 3 2 4
(c) A B & D
1 2 3 4
(d A B C D
4 3 2 1

—SPE-8-SNDf 1A —

42. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List- List-II
(Ocean Current) (Country)
A. Agulhas Current 1. Peru -
B. Humboldt Current 2. South Africa
C. Labrador Current 3. Argentina
D. Falkland Current 4. Canada
Code :
(@ A B @ D
3 4 1 2
(b) A B C D
2 1 4 3
(c) A B € D
3 i 4 2
(d A B C D
2 4 1 S

43. Which one of the following fishing
banks is located off the coast of the
United Kingdom?

(a) Great Fisher Bank

(b) Grand Banks

(c) Dogger Bank

(d) Reed Bank
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39. Zal 3R T4l H w+ft oft 42. -1 A -1 ¥ gafea Hifsg R g &
(o) g T AR e R Y F2 1 wE O I g
(b) FFIEHE O TE B B Tef-1 Fe-11
(c) - o1 A B & (wETETTE amT) - (3w)
(d) Tergd-grrehia 1o 7 €d © A. 3T[eEH ¥R 1. ¥
. 2 2. Tftqur iR
40. e @il Y@ F e @ (TR R B. TR il
) | T8 HUH YA B, AR TEW F fU C. ISR 4wl 3. Iid
TR0 1 HIAH D. Hihais T 4, FHE
(@) GREdT STaHiS 61 8
ETE

(b) T erqadareht < afgal &1 a1 &

: @ A B C D
(c) gt 3R qraEf =@ 5 5
(d) 3T 3R areEf &

() A B C D
41, g1 A -1 @ gafea I @i gl & 2 1 4 3
= fow T Fe w1 TERT W HE IR A
) A B C D
Hefi-1 He-11 3" 48 4 2
(TeTeaEReT) (SrerTeT)
A. BN SITSHER 1. @&l ¥R @A B C D
2 4 1 3
B. E-Td-AI<S SASHEHS 2. 3TSHM UK
C. HeATH STASHEAH 3. o 9K
D. <l TASHER 4. TRE %l el 43. frefafaq # ¥ -9 TF AEH 9% A13S
fomren & 9e W o 27
&
@ & B € @@ (@ W fFR ¥
4 2 3 @
) A B C D -
()1 3 ‘2 4 (b) TS
@ &£ B € D L
1 % '8 4 (c) SR S
@ s B € D _
4 & B2 -8 (d) TssH
SDC-S-SND/1A 15 [B/T. 0,
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44. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Power Plant) (State)
A. Satpura 1. Maharashtra
B. Dhuvaran 2. Uttarakhand
C. Tanakpur 3. Gujarat
D. Dabhol 4. Madhya Pradesh
Code :
(@) A B C D
4 3 2 1
(b) A B (0 D
1 3 2 4
(c) A B © D
1 2 3 4
d A B (& D
4 2 3 1

45. Which of the following statements
regarding soil is/are correct?

1. Alluvial soils are rich in nitrogen
content.

2. Black soils are rich in iron and lime
but deficient in nitrogen.

3. Laterite soils are rich in iron and
aluminium but deficient in nitrogen
and potassium.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 3 only

(c) 2 and 3 only
(@ 1, 2 and 3

R0 s SN0/

16

46. Which one of the following statements is

not correct?

(@)

(b)

(c)

(d)

Position of the Sun, Earth and
Moon in a straight line of 180°
angle is known as syzygy.

Syzygy conjunction causes solar
eclipse.

Syzygy opposition causes lunar
eclipse.

Syzygy conjunction occufs at the
time of perihelion only.

47. Which one of the following is not related
to wind erosion?

(@)

(b)

(c)

(d)

Wind gap

Zeugen

Dreikanter

Demoiselle

48. Which one of the following is correct?

(@)

(b)

()

(@)

Guindy National Park is known for
tiger reserve.

Namdapha National Park is meant
for lion conservation.

Jaldapara is a biosphere reserve.

Rann of Kutch is a Wild Ass
Sanctuary.
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44. gEi-1 $ G-I ¥ gafea A ok gl &

e g g F2 T W EE IW A
-1 Tehr
(TRrggq wu=) (Tr==r)
A. gl 1. WERTY
B. e 2. IWETE
C. THR 3. TR
D. TN 4. T Yo
ETE
@ A B C D
4 8 2 1
) A - B.-.C D
i1 3 2 .4
) A B C D
1 2 3 4
d A B C D
4 2 8 1

45, 9o % ey ® ffafaa § @ SW-w1/8 e

e 8/e?

1. Wele gerd AEeeE ¥ 99 el gl

0. e W diw R T § g A 2
T geeH | € Bl B

3. AR FE e R VGhtEm @ e
B & g TEIeE 3R WfRmm | €
e 2

T fow 7T %2 A1 WA W T IR GATY

(@) Fad 1 3R 2

(b) A 3

(c) Fad 2 R 3

(d 1,23R3

SDC-S-SND/1A

46. Frefeftad § ¥ HH-91 T HU G el 87

(@) T, geaht 3R =wzm it 180° HIV hl TH

feh @ 1 Bl -k g
(f5=hifS) wreamdt 21

(b) FR-fgfa forg wosm @h-wEm @

HRT B

@ g frg e T

HRT 8|

(@ IF-FR frg WA e IR %
g Bl Bl

47. frefaflad 4 4 F9-w1 ™ Idlg IWET @

LEIEGEE

(@) TEH T

(b) I

(c) FFFR

(d) Tewmsia (SHEsIa)

48, T=fciad § Q@ -1 T 98 27

(@) T AWHA Tk, TFR ReE % foTg S
AT R

(b) TRE ATEE Uk, IR o T F g R
(c) Seam T Sfanved fsd Bl

(d) =S T 0 T ST e IRIER B

[P.T.O.
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49. Which one of the following statements
concerning the natural vegetation of
India is not correct?

(a) Sal is found in moist deciduous
forests.

(b) Casuarina is largely found along
the coastal region of Tamil Nadu.

(c) Deodar is a coniferous species
of tree.

(d) Shola forests are found mainly on
the upper reaches of Himalaya.

50. Which one of the following statements
concerning research centres in India is
not correct?

(a) Rajiv Gandhi Centre for
Biotechnology is located at Kolkata.

(b) Central Arid Zone Research
Institute is located at Jodhpur.

(c) Centre for Social Forestry and
Eco-Rehabilitation is located at
Allahabad.

(d) Institute of Forest Productivity is
located at Ranchi.

e ST S SN e

18 -

Directions :

The following three (3) items consist of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

(a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement I ‘

(c) StatementlI is true but Statement II
is false

(d) Statement]I is false but Statement II
is true

51. Statement I :

The Pahi-kashta peasants were
non-resident cultivators cultivating
lands on a contractual basis.

Statement II :

The Pahi-kashta peasants worked
under the temptation of favourable
terms of revenue or the compulsion of
economic distress.

52. Statement I :

The Zamindars were an exploitative
class in Mughal India.

Statement II :

The Zamindars often received the
support of the peasantry in a large
number of agrarian uprisings in North
India in the seventeenth century.
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49, Tfafgd woFl § @ H9-91 T 9Ra Al
Wihfoeh I & Hay § wd TE /7

(@) TS TS Ia9e! 941 § I ST g

(b) R rfrewiv: AfeTg % A &
Y- 191 A€ B

(c) R, TR S T T U 7
(d) e 97 geFd: femmer % Fud &= # Wig
EIcEd
50. F=fafad weodl § § PH-T1 TH 9RG &

UM Hal & Tag § wd T 27

(@ TSHE el Sa Nenfeh (srRears)
%3 i A @@ 71

(b) HEI T & JIFHUH FEAH YR A
&m@ 2

(c) TmEIRER aifehl IR wfeRv-gHatE &=
FRIGCICRRTOC |

(d) & Seareeharl geu U= & @ 71

SDC-S-SND/1A

g .

freffaa €= (3) Teiwt # & FoH B, wUA 1 3R
Y I1. 37 31 o1 1 grawTigdes g ARy iR
H= fow 1T e 1 TR W T IR A

e :

(@) BT ®YA HdA: T 8, IR HH 11,
o 1 %1 T8 TER §

(b) 2w A G T, Thg w1,
HU 1 T Hel TEIHO AL 7

(c) 1WA R, Thg HoF 11 3 B

(d) mmm%,ﬁa%mﬁﬁ%

51. ¥ 1.

“qril-spra’ e feal fFam 9, S 3%
(dfeer) & A1ER W SHE Sad 9

Y 11 ¢

‘qrfl-a’ REFT 3 TR TSR I %
Ao e e f fqawar § em
fopam |

52. FU1:
TTIeRTe A WRd H SHIGR b e i 1|
wYA 11 ¢

HoRdl yaed #§ S 9Rd A fleri @ T
T wen § Py wEd oS feee e
Tae firem)

19 [P. T, 0.

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

. SDC-S-SND/1A

Download More Papers From GovtJobsAlert.In

53. Statement I :

King Ashoka abolished capital
punishment and disbanded his army.

Statement II :

After Kalinga War, Ashoka was
remorseful and became a Buddhist.

54. Which one of the following does not
signify a battle tank?

(@) T-55
(b) T-155
(€ T-72
(d) T-90

55. Which of the following Gods are also
known as Lokapalas or the Guardians of
the Universe?

(a) Yama, Indra, Varuna and Kubera
(b) Indra, Varuna, Skanda and Kubera
(c) Indra, Varuna, Yama and Brahma

(d) Yama, Shiva, Kubera and Indra

56. Which among the following Acts
were repealed by Article 395 of the
Constitution of India?

1. The Government of India Act, 1935
2. The Indian Independence Act, 1947

3. The Abolition of Privy Council
Jurisdiction Act, 1949

4. The Government of India Act, 1919

Select the correct answer using the code
given below.

(@ 1 and 2 only
(b) 1 and 3 only
() 1, 2 and 3 only
(d 1, 2, 3 and 4

-5 .

57. On 26th November, 1949, which of the
following provisions of the Constitution
of India came into effect?

1. Citizenship
2. Elections
3. Provisional Parliament

4. Fundamental Rights

Select the correct answer using the code
given below.

(@) 2, 3 and 4
(b) 1,2 and 3
(¢) 1 and 3 only

(d) 1 and 2 only

58. Which of the following statements
regarding the Constituent Assembly of
India is/are correct?

1. The Assembly was elected
indirectly by the members of the
Provincial Legislative Assemblies.

2. The elections were held on the
basis of Universal Adult Franchise.

3. The scheme of election was laid
down by the Cabinet Delegation.

4. The distribution of seats was done
on the basis of the Mountbatten
Plan.

Select the correct answer using the code
given below.

(@) 1 only
(b) 1,2 and 3
(c) 2 and 4

(d) 1 and 3 only
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. BYI I
TEE E A Gegeve bl THE R faan @R
IqR T o o R fe)

HYA 11 ¢

H g F AT AH A B
9 T

. fefafea # @ F-w1 @ g8 T B AE
qurian &7
(@ T-55
(b) T-155
(€ T-72
(d) T-90

55. 39 wWEE § ¥ R deua a1 wemve (fam)

F WeF % ®Y F oft S ST @7
(@) TH,TF, TR IR FN
(b) 38, TRV, Wha R FN
(c) 3%, TE0I, AN IR F&N
(d) =9, R, FR R R

56. Frefafas # & fF srfufedt 1 wRa &

SDC

WRyum % 3gEse 395 % ER1 TR foR
T o7

1. 9id R fafem, 1935
2. YWRAE TEdFal A=, 1947

3. Ty wefe SR @m - erfufrem,
1949

4, R WHR fufEH, 1919

= 2 T e 1 T AR FE IW gAY
(@) HIA 1 3R 2

(b) HaA 1 3R 3

() Fad 1, 2 3R 3

(d 1,2, 334

-S-SND/1A

21

57. 26 TR, 1949 % WRA * HEYH F
Frfafaa § & F9-9 wEauH dr Fe

1.

2.
3.
4.

TR
Tratem

el Tue
mferr 3R

H= fow T %2 w1 WA W wE IR gAY

(@ 2,334

(b) 1, 2 3 3

(c) HFA 1 3R 3

(d) HaaA 1 3R 2

58. WRd I dfag™ 9w ¥ sn # Fefafaa 4 @
FH-41/H HoH T8 /87

1.

i faum gwiesdl &% el gR1 STEE
Y Y G T =9 TR T o)

g 99EF AAIURR & YR |
EQERERED
3 whm 1 fafor Hfee Simem
g o T o)

el o1 arffeRtol AIEeseT ASHT & IMUR
R fopam T o)

S fog T g 1 W R wE SW g
(@) Fad 1
(b) 1,233
(c) 23R 4
(d) *ad 1 3R 3
[ PL'T. O,
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59. Which one of the following statements is
not correct?

(@)

(b)

()

(@)

Centre for Science and Environment
in a recent study found that a
number of commonly available
brands of prepackaged breads
tested positive for potassium
bromate and potassium iodate.

Food Safety and Standards
Authority of India recommended
to the Health Ministry to remove
potassium bromate from the list of
permissible food additives.

The Union Government banned the
use of potassium bromate as a food
additive on the basis of the above
recommendation.

Potassium bromate is a neurotoxin.

60. Which of the following voted for Brexit
in June 2016?

(@)

(b)

(c)

(@)

England and Scotland

England and Wales

Scotland and Northern Ireland

Wales and Northern Ireland

~ SDC-S-SND/1A

22

61. Which one of the following statements
about reusable space vehicle of ISRO is
not correct?

(@)

(b)

(c)

(@)

In June 2016, ISRO successfully
launched India’s first reusable
space vehicle.

The space vehicle was launched
from Satish Dhawan Space Centre
at Sriharikota in Andhra Pradesh.

The reusable launch vehicle
climbed to a height of 65 km before
automatically steering back for
landing.

The vehicle was initially boosted by
a rocket that contained liquid fuel.

62. Which one of the following statements is
not correct?

(@)

(b)

(c)

(@)

BrahMos is a supersonic cruise
missile made by India and Russian
Federation. '

The name BrahMos came from two
rivers, Brahmaputra of Iridia and
Moskva of Russia.

Indian military scientists were
capable of integrating BrahMos
cruise missile with Sukhoi-30
MKI fighter.

Defence Research and
Development Organization is the
manufacturer of Sukhoi-30 MKI
fighter.
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59. fr=fafaa sl § ¥ -1 Th &l T8 87

(@)

(b)

()

(d)

fogm s gateror &= g1 A & H fg
T T HLATA | g8 I T R TR Y-
@ FE (W) F AR W I TS
St @l Sitg F NREE sne iR qefirm
ImEee % fore wifsifea qrm |

TR @ G T e SR 3
wiepd @ Aiseh! i gt § | qeREm
e H TR 6 TR W@ FAed |
i

3yt HEgfd % SMUR W HE WHR A
@@ A % w9 § AR S F
Sy i wfesifia |

ARfrm s T ARt (=)
H

60. S 2016 # fr=fafea & ¥ fra-fora 7 fafeee
(Brexit) % T ate feran?

(@)

(b)

(c)

e 3R Whicas

Feig 3R A

Thizae 3N I AR

(d) I°9 IR I RIS

SDC-S-SND/1A
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61. SE (ISRO) % YA 3iaRed amed & o |
Frferfaa § & FF-11 TF FUA FE - 27

(@)

(b)

(c)

(@)

4 2016 #, WRA % WUN GEA
aRe ded B ISRO A Hhedge
Si-a fopa|

I8 IaRer 9red Ty Tew & fiefeper &
gl ged AdR&y Fx ¥ A= TR
T o)

IR ¥ WEIfeTd €9 | A9E IR
¥ TEd ARSI g 9 65 km
SIS e Wg T 1

e SRR Y § WA 38 Ao Uske
B AT SR AT AT

62. F=faftad § @ FH-91 T FoH T T 27

(@)

(b)

(c)

FEd, W 3R & g9 (FPewEH) W
ffifa T queafis gt i

S| M, & AfeEl, TRa B FEgd IR
w4 ) HIEHaT % W W W@ T

Rt A= A s % e @
FER-30 THo o 3o Jgh & WY
TS R H 9am )

(d) FEB-30 THo o g0 gk 1 A

& ey 3R Ty WA 7|

P10,
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63. Which one of the following sources tells 65. Match List-I with List-II and select the
us about women protesting against correct answer using the code given
the infidelity of their husbands or the below the Lists :
neglect of the wife and children by the
male head of the household? List-I List-II

(Historian) (Book)
(@) The Kitab-ul-Hind A. Sumit Sarkar 1. The Rise arxd Growth
of Economic

Nationalism in India

(b) Documents belonging to the Village B. Shahid Amin 2. A Rule of Property
Panchayats of Rajasthan, Gujarat for Bengal

and Maharashtra ”
C. Ranajit Guha 3. The Swadeshi

Movement in Bengal,

(c) Sculptures from Mandor 1903-1908

D. Bipan Chandra 4. Event, Metaphor,
Memory—Chauri

(d) The Ain-i-Akbari of Abul Fazl Chaura, 1922-1992
Code :
. (@) A B C D
64. The All India Census was 3 4 o 1
1. first attempted in 1872 (b) A B C D
3 2 4 i
2. regularly undertaken since 1881
(c) A B C D
3. always undertaken as a five-year 1 2 4 3
exercise
(@ A B (@ D
1 4 2 3

Select the correct answer using the code
given below.

66. What form of Shiva is most prominent
in the Brihadeshvara Temple built by
the Chola dynasty?

(@) 1 only
1
el EEEEES (a) Harihara
(c) 1 and 2 only (b) Bhairava
() Rudra

(d 1, 2 and 3 (d) Tripurantaka

SDE-S<SNDLIA— - | —— —
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63. Frafafeaa # ¥ HA-@1 Ha, o9 gl H 65. -1 A GEA-11 & gafera Ay 3R gl &

Traer=gf % foeg a1 IRY Tewarht & g = 2 fow T F2 1 T AR EE SR G
R ueh i e F foeg Afeenedt & oy &
TR & a8 7 -1 e
(zToeTE=R) (g&Teh)
(a) TFamE-3d-fe< A g EER 1. 7 e 08 Al o
SHIIE ATl §7 §iear
(b) T, TS SR AEE i e e B. Wde oA 2. Ewaﬁwwﬁrm
J gl eeaEN C. USATE 3. 7 @M e g9 &ic,
1903-1908
- D. faR == 4. 3=, AITHR, PWR—IK
SRL TRT, 1922-1992
(d) ST B hl HTF-T- 37 %Re:
@ A B C D
3 %4 2 .1
64. 3Rac WRA SHTUFT () A B C D
3 & 4 3
1. 1872 ¥ Ygelt 9R il T8
0. 1881 ¥ Frftm w9 & H vl B (C)fl\ 13 2 lg
3. Uoadig g % w9 H g S @
(@ A B C D
1. 4 © 3
e g T F2 w1 T R EE IW A
- 66. W@ Twaw g Fiffa gEem @ik A R w=
S P N ¥ N
(b) Fad 2 3R 3 (@) TR
(b) ¥E
(c) FaA 1 3R 2
(c) ¥
(d 1,233 (@) Tt
SDC-S-SND/1A 25 (P.T.O.
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67. The basic structure doctrine with regard

to the Constitution of India relates to
1. the power of judicial review

2. the judgment in Kesavananda
Bharati case (1973)

3. the constraints on Article 368 of
the Constitution of India

4. the judgment in  Golaknath
case (1967)

Select the correct answer using the code
given below. :

(@ 1, 2 and 3 only
(b) 1, 2, 3 and 4
{c) 1 and 3 only

(d) 2 and 4 only

68. Which of the following fundamental

rights as enshrined in the Constitution
of India belong only to the citizens?

1. Article 19 (Protection of right to
freedom of speech)

2. Article 21 (Protection of life and
personal liberty)

3. Article 15 (Prohibition of discri-
mination)

4. Article 16 (Equality of opportunity)

Select the correct answer using the code
given below.

(@ 1, 2 and 3
(b) 2, 3 and 4
(c) 1, 3 and 4

(d) 1 and 4 only

___SDC-S-SND/1A . i

26

69. A citizen of India will lose his or her

citizenship if he or she
1. renounces Indian citizenship

2. voluntarily acquires the citizenship
of another country

3. marries a citizen of another country

4. criticizes the Government

Select the correct answer using the code
given below.

(@ 1, 2 and 3

(b) 2, 3 and 4

(c) 1 and 2 only

(d 1 and 4

70. Which one of the following statements

is not correct with respect to protection
of individuals being tried for offences?

(a) A confession can never be used as
evidence against the accused.

(b) The accused must have violated an
existing law.

(c) An accused cannot be tried and
punished for the same offence
again.

(d) The quantum of punishment must
be provided in law as it existed
on the date of commission of an
offence.
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67. WA % GlauH % Gy H qoyd W A T
Herg af

L,
2.
3.

4,

ek gRacieR i itk
FIEER TR 7R (1973) | Fof

YRd & GfauH % Igese 368 W
AT
TAY A (1967) T i

A= g U g w1 W@ W FE W AT

(@)

FHad 1, 2 3R 3

(b) 1,2, 334

(c)

T 1 AR 3

(d) HId 2 IR 4

68. 9d & dagd ¥ wiomifg f=fafes 4 @
FH-G O JIRER Had ARG W
geiftrg 87

1.

3.
4.

IgeRe 19 (ATF WA & ARSR Al
TET)

Igeds 21 (e iR efesh T i
TRET)

IFgeae 15 (fa9e %1 gfme)
g8 16 (3TaER 1 FHdI)

e fow MY Fe 1 TE W @ IR )

(@ 1,233

(b) 2, 3 3R 4

(c)

1, 3 3R 4

(d) Fd 1 3R 4

SDC-S-SND/1A
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69. SR I HI5 AMNG AT AFRGaT @ o,
Ife I8

1
2.

3.
4,

AR TETRERdT o1 IR Ll ?

wW=3! ¥ fordl o= 3w fit amifeear aw
ETGIR

et 3 2 % AR | foame war ®
TR AT T 8

Fr g T e 1 W R wE SW g

(@)

(b)

(c)

(d)

1, 2 3R 3
2, 3 3R 4
Tl 1 3R 2

1 3R 4

70. qudl & g fammo ey 1 ® =afeat &
W & gy § Frafafed # ¥ W-w
YT el AL 87

(@)

(b)

()

(d)

Y -TH T I ANGE & faeg e
& &9 § weft oft g e o S wehd|

AfiRgs 3 Fordl W@ F # IR
3geA o 2

I ey % fau R & sibgs &=
forermor =€t fopam ST Hepar TR e R @
EIR:ETIl

1 6 T HEE A IE @ R AR
Jg AWH TW F fHE W F A
Toremm A1

[P 410
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71. Neil O’Brien, who died recently, was a
famous

(@) journalist
(b) billiards player
(c) dramatist

(d) quiz master

72. Consider the following statement :

“If you feel you are trapped in a black
hole, don’t give up. There is a way out.”

Who among the following made the
above statement?

(a) Albert Einstein
(b) Stephen Hawking
(c) C. V. Raman
(d) Abdus Salam
73. Recently the Government of India cleared
the proposal for the production of

18 indigenous ‘Dhanush’ artillery guns
to be produced in India by

(a) Indian Army
(b) US Army
(c) Indian Ordnance Factory Board

(d) Indian and US Army jointly

___SDC-S-SND/1A SN -

74. Who among tl:le following won the Men’s

Singles Title in the Australian Open
Tennis Tournament, 2016?

(@) Jamie Murray

(b) Bruno Soares

(c) Novak Djokovic

(d) Andy Murray

75. Which of the following statements about

the philosopher Shankara is/are true?

1. Shankara espoused a form of
Vedanta called Advaita.

2. He elaborated on the philosophy
of Gaudapada.

3. Shankara tried to demonstrate that
the Upanishads and Brahmasutras
contain a unified, - systematic
philosophy.

4. Shankara founded the Amanaya
Mathas. '

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 1, 2 and 3

(c) 3 and 4

(d) 4 only
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71, f@ AT, A A A RAR TG E R, &

LIGE

(@) TTHR o

(b) Tafead & fawrt &
(c) TEFHR A

(d) TR AR

72. Tafafad s w fomm Hifs

“afe syl @ T g TR st B B B
™ R, A ER A A 36w FHEE 21

I0YH YA TAH 9 Fere foam en?
(@) e AFEH
(b) EEHA BT
(c) ¥io o T

(d) HsgH U™

73. T € H 9Rd GR 7 18 WaEh ‘ugw’ a

Sgeh! T IeTE T WIS @l AT @ R
TRl IcqTed Wid W fopass g fomem S ?

(@) TR B
(b) o THo §I
(c) SRR Ty Haed e

(d) SR 3R Fo THo T GRI TIH €9 4

SDC-S-SND/1A

74, AR 0 2w @ite, 2016 | 79 THA

1 Raars 71 & fpaa fiar 27
(@) TR

(b) N HRE

(c) Traeh it

(d) TR

75. Tfafaq § @ F9-91/8 FA9 RIS TR F

forg & uw B/%7

1. Yo A 987d % T ®Y, TS 35d Fed 8,
=1 gmedq feeam

2. TTUE % eI I IR AR |

3. Yo A I8 THIfa A o1 s feRa T
+ Jufg iR seRE W U uffifod, sues
a3l SrafaE R

4, O A THEI H31 h TATYAT 6|

= T Y e w1 R IR gh)
(@) Had 1 AR 2
(b) 1,23
(c) 334
(d) FF 4
[P.T.O.
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76. Which of the following statements about
the Deccan Riots of 1875 is/are true?
1. The Deccan Riots resulted in

protection for peasants through
the Deccan Agriculturalists Relief
Act of 1879.

2. The riots did not spread to the
whole of Maharashtra because of
prompt suppression by the British.

3. The British were unable to contain
the riots and they spread
throughout Maharashtra.

4. The cotton boom in the Deccan
that had been caused by the
artificial demand generated by the
American Civil War caused the
impoverishment of the peasants.

Select the correct answer using the code
given below.

(@) 1 only

(b) 1 and 3

(c) 2 and 4 only

(d 1, 2 and 4

77. Why are the Gypsies regarded as of
Indian origin?

1. They follow Indian religious
practices.

2. Their language, called Romani, is
an Indo-Aryan language.

3. They believe that they came from
India.

4, Epigraphic evidence locates their
original home in Uttar Pradesh.

Select the correct answer using the code
given below.

(a) 1 and 4 only

(b) 2 only
(c) 1,2 and 4
(d) 2 and 3

78. The term Upari refers to which one of the
following?

(a) A category of proprietary tenure
under the Mughal rule

(b) A category of tenancy tenure under
the Maratha rule

(c) A soldier in the Maratha army
(d) A village headman in the Mughal
period
79. The ‘water frame’ of Richard Arkwright
was a device for
(a) producing a new type of painting
(b) irrigating fields for rice cultivation
| (c) producing strong threads of yarn
(d) the faster movement of steamships
80. The ‘four great needs’ of the people as

identified by the Guomindang were

(a) clothing, food, hoﬁsing‘ and

transportation

(b) education, food, housing and
health care

(c) food, housing, education and
employment

(d) employment, housing, education
and health care
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76. Frefafad § | SH-91/4 %99 1875 & T& *

& % fowg § a1 3/%7

1. &1 & @M & IRUMTREEY e FHh
Ted ifufem, 1879 % wreaw @ forar
1 gean fiefl)

2. ISl ¥ AR T ok HRO T R
TewTg & & et

3. 3N M B T A ewmd ¥ SR R
HerTE | & %e Q)

4, <@ A wuE A dew ghg, s TAReR |
TegE ¥ 3099 HHW AT % FRO g5 o, A
fopamt <t shet s fea |

= fow T g2 1 TERT R HE IR A

(@) FIA 1

(b) 1IR3

(c) Had 2 3R 4

(d 1, 23R4

77. R (Fedf) =1 9Rdm q@ & =& wHH

Eink
1. A R wnfies Rarsi o1 9eH i 2

0. IR W, S VA FEA B, Th
AR -3 AT B

3. I 48 fogm % 6 3 swma @ &g
T EI

4. YO |iEd TR A Te IR T
F Tofad e R

T fo 7Y e 1 W R FE IR YR
(@) Fad 1 3R 4

(b) HIA 2

) 1, 23R 4

(d 2R3

SDC-S-SND/1A

78. ‘U’ wsg frfofea & & fFe o & dou A

?7

(@) T e % A w@fra R B
Th Aft |

(b) WS ITEA % 3 FEdH) RHER
TH Hoft

(c) WIS BN H TH A

(d) TS FTA H T T 61 gRa

79. Fad smhtge #1 A ¥ frw wHE & fog

aftn o7 ,
(@) T T4 THR ) Femsit F forg

(b) T B G ¥g Gt i f=g F fog
(c) Hd % A U™ R % fae

(@) aT-=era Ot 1 i i 3 % g

.

80. Taffiem g Fuffm swar ft =R afa

ey, o off ?

(@) HULST, @A, T R IREGEH
(b) Torem, @M, W AR WA
(c) T, R, fen 3R AsPm

(d) AR, R, e IR Tarees @&

[P.T. O.
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81. Which one of the following was the earlier
name of Tokyo?

(@) Osaka
(b) Kyoto
(c) Samurai

(d) Edo

82. The epic, Silappadikaram refers to the
(a) story of Rama
(b) Jaina elements in the storyline
(c) culture of Sri Lankan Buddhists

(d) cult of Shakti worship

83. Rakshasa type of marriage is
(a) marriage by purchase
(b) marriage by capture
(c) marriage by giving dowry
(d) marriage by seduction
84. Who among the following was defeated by
Chile to won the Copa America Football
Championship, 20167
(a) Colombia
(b) Argentina
(c) Ecuador

(d) Peru

"SDC-S-SND/1A =

85. Which one of the following is the highest
altitude zoo in the world?

(a) Cheyenne Mountain Zoo
(b) Pandit G. B. Pant High Altitude Zoo
(c) Himalayan Zoological Park, Gangtok

(d) Padmaja Naidu
Zoological Park

Himalayan

86. Which one of the following statements
about the Missile Technology Control
Regime is not correct?

(@) The Missile Technology Control
Regime is an informal and
voluntary  partnership initially
formed among G-7 countries.

(b) Members of the Missile Technology
Control Regime prevent the
proliferation  of missile and
unmanned aerial vehicle technology
capable of carrying above 500 kg
payload for more than 300 km.

(c) China applied to join the Regime
but members did not offer the
membership.

(d) No other country outside the
membership follows the Regime
rules.

87. The first Tejas squadron of Indian Air
Force consists of

(a) 20 aircrafts with 4 in reserve
(b) 100 aircrafts with 10 in reserve
(c) 20 aircrafts with no reserve

(d) 25 aircrafts with S in reserve
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81. frHfciRad # ¥ HH-w TH, T H T

IR 1K
() ST
(b)
(c) HHE
(@) @

82. WEHA Yot forod geftr 87

(@) TH 6 FHaE

(b) FUHH B I T

(c) e % Gl TR
(d) wIfch AT Y g-vgfd

83. U&H YR 1 famE ®

(@) @l o T foame
(b) & TR TR T et
(c) <& <o Topan T forame
(d) T TR TR T foare

84. U1 SN Feara AMFFARM, 2016 Sfad &

forg fereft g0 Ffefaa & & ford g man?
(@) i

(b) ST

(c) TR

(d) T

SDC-S-SND/1A

85. Fr=fafaa & 4 =F-w1 fag #1 I=aw gran aren

fafearer &7

(@) A weq fefeamer

(b) dfed Sfto sfo qa 3= grma Fafeamr
(c) Terrer mftr 3am, e

(d) TSI g feHera wiftr e

86. Fr=fafad oMt § @ w=-w1 s, fEEa

TrenfiehY s gorelt & foawa § w7 27

(@ Troma Wi v womelt o
i 3R Wfess w@ed ?, s
AR A G-7 W & <= s off |

(b) Thoa WeNfieh fEEo goreh % wew
300 km ¥ 3% & fw 500 kg A
A STEH-IR & WH A wem e
3R AME-ed agam W & Tg
AT | 39Ty Bl Uehd &

¢ < 3 3@ woreh § Wit A9 ¥ f
gftee form, wg wewl 3 3@ Hew
e

(d) FE & AAE HIE G <Y YO *
Tt <1 urem 7 e R

87. WRAIE SYHAT 1 Ygl oo Thied (3) Fored

TRt &1 27

(@) 20 fommH 3R Ty A 4 o fomm

(b) 100 Fmm i @y # 10 Ao fmm
(c) 20 fomm R @y § #g fetd fomm e
(d) 25 foum iR ae | 5 fiod fomm

[ B. T, O:
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88. The headquarters of ‘Economic and
Social Commission for Asia and the
Pacific’ is located at
(a) Singapore
(b) Manila
(c) Bangkok
(d) Hong Kong

89. Which of the following with regard to the
term ‘bank run’ is correct?

(@) The net balance of money a bank
has in its chest at the end of the
day’s business

(b) The ratio of bank’s total deposits
and total liabilities

(c) A panic situation when the deposit
holders start withdrawing cash
from the banks

(d) The period in which a bank creates
highest credit in the market

90. Which of the following will be the
outcome if an economy is under the
inflationary pressure?

1. Domestic currency heads for
depreciation.

2. Exports become less competitive
with imports getting costlier.

3. Cost of borrowing decreases.
4. Bondholders get benefitted.

Select the correct answer using the code
given below.

(@) 1 and 2

(b) 2 and 3

(c) 1 and 3 only
(d 1,3 and 4

—SDC-S-SND/1A
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91. According to the  Classical Theory of
Employment, deviations from the state
of full employment are

(a) purely temporary in nature,
(b) permanent in nature
(c) imaginary situations

(d) normal situations

92. Capital deepening refers to

(a) going for more fixed capital per
worker
overhead

(b) emphasis on social

capital
(c) constant capital-output ratio

(d) increasing capital-output ratio

93. Which one of the following statements is
not correct with respect to Article 32 of
the Constitution of India?

(a) 1t provides remedies to citizens for
the enforcement of fundamental
rights.

(b) It is a part of fundamental rights.

(c) The Supreme Court cannot refuse a
writ petition under Article 32 on the
ground of delay.

(d) Protection under Article 32 also
applies to the enforcement of
ordinary law which has nothing to
do with the fundamental rights.
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88. ‘THAIH Us dwe HHiTH HR TRET U8 T

89.

Yfftrer’ o1 g FEl feoa 77
(¢) Tamg
(b) FHA
(c) SH

(d) = H

‘S W wse & gy 1 Fafaflaa § @ wE-a

el 87

(@ R & 1 FaE™ Tm a1 | R S
# et & o= Y g AW N

(b) Torel S % FA T AR FA AR HT

SERIN

(c) TF wieg 6 fufd a8 1 ansE St W
T frereram IE = S

(d) ¥ rafy el +i 9% 9 ¥ 3=
Hige o1 A

90. IR TF gy THIfGHH o F F=rld 7,

@ Frfaiad & & #H-8 aRom g?

1. TR G 1 A BT |
2. G 7ET e & i Fafa wm wfeah
i

3. YR @A hl AP U S|
4, die YR AIf=a g

9 o 1Y g2 1 @ W T W ghw)
(@) 13K 2

(b) 23R 3

() Fad 1 3R 3

(d) 1,3 3R 4

SDC-S-SND/1A

91. TSR % wATfehl Rrgia % Tgar, o1 IR

f srazen ¥ foeeH foFd TR & B 87
(@) SHAH gl ®9 9 sorf

(b) WHf H T

(c) HIeueh e

(d) | AT

92. Ysit werfieter w1 Ifglad htar =7

(@) S SR e g gsht 91 3
(b) | el gt W e &
(c) oo qS-3cqre ST

(d) ¢ @ YS-3Icae 3Tgurd

o3, Pt s § A P ™ ww B

dfau™ &% =% 32 F Ty ¥ wdl 7 77

(@) T8 TARTNGRT ht Wfereh AT % Tadd
T 3UT@ weM W Bl

(b) IE Hifereh ARPRI o1 Th fewm B

(c) ¥I=He 32 & TqEd, o & MUR W
I e R fe ok =
ST T HL Foha |

(d) IF=BT 32 % TgA GR&T, TURY FHHT
Ar B W A B 8, e difas
ARt | FIE Ty T 2

[P. T. 0.
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94, Which one of the following writs is issued

by the Supreme Court to secure the
freedom of a person upon unlawful
arrest?

(a) Habeas Corpus
(b) Mandamus
(c) Certiorari

(d) Quo Warranto

95. According to the provisions of the

Constitution of India, which one of the
following is not a fundamental duty?

(a) To respect the National Flag
(b) To defend the country
(c) To provide education to one’s child

(d) To promote village and cottage
industries

96. Under Article 352 of the Constitution

of India, an emergency can be declared
if security of any part of India is
threatened by

1. war
2. external aggression
3. armed rebellion

4. internal disturbance

Select the correct answer using the code
given below.

(@) 1, 2 and 3
(b) 2, 3 and 4
(c) 1, 3 and 4

(d) 1 and 2 only

SDC-S-SND/1A
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97. Which one of the following statements

is not true of the Protection of Women
from Domestic Violence Act, 2005?

(a) This Act provides civil remedies
to protect a woman subjected to
domestic violence.

(b) Only women can make a complaint
under this legislation.

(c) Relief may be sought only against
the husband or a male live-in
partner with whom the woman has
lived in a domestic relationship.

(d) The Act includes not just wives
but also women in marriage-like
relationships.

98. Which one of the following statements

is not correct?

(a) Creation of National Investment
and Infrastructure Fund (NIIF)
was announced in the Union
Budget, 2015-16.

(bp) NIIF is a fund for enhancing
infrastructure facility in the
country.

(c) NIIF and NIF (National Investment
Fund) are the names of the same
organization.

(d) NIIF can have more than one
alternative investment fund,

99. Which one of the following is not correct

in respect of Andaman and . Nicobar
Command?

(@) It is the first integrated theatre
command in India.

(b) Its headquarters is at Port Blair.

(c) 1t is commanded by a three-star
_officer.

(d) 1t was set up by the British during
the Second World War.
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94. Trafefaa § 4 #H-w & Ry, e =afe

H R-FHLH T H T Y TH W, IHR
e At & % e 3=ram =™ g
ST fopa T B2

(@) < Tegefier (Rfsraa widg)
(b) T (HeH)

(c) SO (W)

(d) STeFR-g=sT (e 'emz‘r)

95. WRA % WAYM o WagHi @ gaR ffafaa

H | HH-91 TF Hifcish Hied TEl a7
(a) TEEAS 61 G 6T

(b) g T FRAT

(c) 39 s=] I W& TeW
(d) T T FER I HI AT

96. WRAd & WEYM % 3IIede 352 % IHdd,

JUTAHTA 1 G0N hl ST Fehell 8, A 9RA
% fepet s <t e B T @

1. 384

2. Tacuft smmsmor @
3. O Ed 9
4, AN Y59 W

= T T F2 1 FE W T IR g
(@ 1,2 3R 3
(b) 2, 3 3R 4
¢) 1, 3 3R 4
(d) Faa 1 3R 2

SDC-S-SND/1A
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97. THfaied HeAl § | HH-91 T, o fean @

Afgen wewr afufEm, 2005 % fawm § ¥

TE 77

(a) F8 3ffafE vl fewr 1 Repr g3 Tt
Aige G FoH HA F o Janfes
IYT} T TEY T

(b) T@ B % IFaqia e AR & He
Rreprad & = Heheht &1

(c) A ufa Igar w1 wW @ e 4,
T wy wfeen & uiarfe @9y @ 9,
%+ foreg, € Tea wPf S wehd B

(d) I8 fufEm Faa ufedl & & 7
FfEE Al §, sfesh foame-S gegi 3§
@A aTelt afgend «ft 5o aiaia ot §)

98. FrfdRad weal # A +9-91 T 6 7 27

(@ TEE fow w@ nule W=+
(NIF) % R i Swon g aee,
2015-16 # & 7E)

(b) NIIF T UET &Y 8, S 20 H quie
AT glawed A sen % fag R

(c) NIIF 3R NIF (W faw «m) w &
WS & 9 1

(d) NIIF ® T ¥ it dofcrs few wiy
B Hehd B

99. F=fafed # & #H-w T, ofenm 3k fwEm

FAH b T A T L 27

(@) T& 9RG hl Ygel! Tehishd H& HAM B

(b) TEH &I I R T B

() I8 T& dH-Taarn oreisha St g
Frafa g 7

(d) Tah T SIS gR T faw 9@ %
AR 6T TS ot

[P.T.O.

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

100. Who is the Chairman of the Chiefs of
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Staff Committee?

(@)
(b)
(c)

(@)

The Chief of Army Staff
The Chief of Naval Staff
The Chief of Air Staff

The member who has been the
longest on the Committee

101. Jammu and Kashmir Rifles is

(@)

(b)

(c)

(@)

an infantry regiment of the Indian
Army

a battalion of the Rashtriya Rifles

the name of the Armed Police of the
State of Jammu and Kashmir

a paramilitary force under the
Ministry of Home Affairs

102. Which one of the following is correct?

(@)

(b)

(c)

()

Infantry Regiment is also known as
the Mechanized Infantry Regiment.

Corps of Electrical and Mechanical
Engineers is subsumed in the
Corps of Engineers.

Army Medical Corps and Army
Dental Corps are two divisions of
the Army Service Corps.

Army has its own Corps of Air
Defence.

“SDC-S-SND/1A e

the Commands of the Indian Army?
(a) South Western Command
(b) North Eastern Command

(c) Central Command

103. Which one of the following is not one of

(d) Army Training Command (ARTRAC)

is correct?

104. Which one of the following statements

(a) The rank of Second Lieutenant has

been abolished.

(b) The Chief of Army Staff carries the

rank of Field Marshal.

(c) All officers posted to Andaman and
Nicobar Islands wear the ranks of

the Indian Navy.

(d) The rank of Major General is higher

than the rank
General.

Air Defence Missile system?

(@) Akash

(b) Trishul

(c) Tatra

(d) Astra
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105. Which one of the following is not an


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

100. W% Hif % Yg@! 1 1eq8d B 87 103. frfafad § ¥ HH-81 Th IRAE |1 6 FHAM
T § Th HHE & 17
(@) ITHA WIF 6 TgE@
(a) <f&or-uisredt smm=
(b) TE WTH H THE ;
(b) IW-YHi FHAH

(G ST SRR (c) 5 FAH

(d) 98 Tew, s 9ffq & ved oifts ony

B (d) ¥ R FHH (ARTRAC)

104. TfaRad # & SH-41 T FoF T 87
101. S 3R FYR Ughed HT 87

(@) ¥Hs Affede & ug & wHW e

(@) WRAE B 6 Th Aqad A1 AT ™R
(b) TEH TEHH hl T I (FeTferad) (b) ¥ WS 1 W@, hleg mEia 6t Hof
%1 B B
(c) ¥ 3R FWR T & W& gierd ol
I (c) 3eAM 3R PR Hvar | ey
asft Aftreprlt e e Y gedt forg
(d) T8 AR ¥ R UF W wd ®Id €|

(d) WS SRA I U8, AfFede SR & 92 A

102. Fmfafed # @ FH-91 & w9 27 SR B 2

(@) e e A i e AR e s ot o, A s SR

(b) ¥ iR It rEd@Rl % wR W (@)
ffirrar R 3 wfmfer form mn 21
(b) T
(c) &= Tafhemn ®R R &= <9 +R, T
a1 FR & A feeliem § (c) <=
(d) ¥ 61 319 e ATy gRen eR R (d) =
SDC-S-SND/1A 30 [P.T.O.
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106. Which one of the following statements is
correct with respect to the composition
of national income in India?

(@)

(b)

(c)

(@)

The share of manufacturing sector
has declined.

The share of services sector has
increased sharply.

The share of agriculture has

remained static.

The share of services sector has
declined.

107. In India, the term ‘hot money’ is used to

refer to

(a) Currency + Reserves with the RBI
(b) Net GDR

(c) Net Foreign Direct Investment

(d)

Foreign Portfolio Investment

108. Which of the following is/are credit rating
agency/agencies in India?

(@)
(b)
(c)
(@)

109. Who

CRISIL
CARE
ICRA

All of the above

among the following is the

Chairman of the Fourteenth Finance
Commission?

(a)
(b)
(c)
()

C. Rangarajan
Vijay Kelkar
Y. V. Reddy
Rakesh Mohan

_SDC-S-SND/1A T——

110. The members of NAFTA are,

(@)
(b)
(c)
(@)

USA, Canada and Mexico
USA, Canada and India
USA, Canada and Japan
USA, UK and India

111. Which of the following are constitutional
provisions and laws for the protection
of the rights of the Scheduled Castes

in India?

1. Article 17 of the Constitution of
India

2. The Protection of Civil Rights
Act, 1955

3. The Scheduled Castes and the

Scheduled Tribes
Atrocities) Act, 1989

(Prevention of

Select the correct answer using the code
given below.

(@)
(b)
()
()

1 and 3 only
1 and 2 only
1, 2 and 3

2 and 3 only

112. Which one of the following is not true

about the powers of the Supreme
Court? '

(@)

(b)

()

(d)

The Supreme Court has original
and exclusive jurisdiction in inter-
governmental disputes.

The Supreme Court has advisory
jurisdiction on a question of law or
fact which may be referred to it by
the President of India.

The Supreme Court has the power
to review its own judgment or
order.

The Supreme Court has the
exclusive power to issue writs to
protect the fundamental rights of
the people.
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106. WRd & UEA 3™ & G9e & geiy A FAfafaa

H ¥ -9 T B T 77

(@) Trafor e 3 wiw 3 w0 g8 R
(b) ¥a1 &7 % 3w § fiw gfg g R
A(c) Y 1 379 FRR o1 gom R
(d) ¥ &7 % siw § 8 R

107. 9Rd H ‘IEE 54 (e 7))’ wea fopuss wa

# yeh for ST 7
(@) TSI + ARo st ARo H RfEra ffy
(b) & St o 3ARo

110. THo TWo Tho dlo o & HIH &

(@) o THo To, FHrel AR Al
(b) Fo THo To, ST 3N A

(c) Fo THo To, ST 3R UM
(d) Jo THo To, Fo o FR HRA

111. 9Rd # iggf~a SufeR & ifteprl 6t e &

fog fafafaa & @ 9-9 93wt gagm
3R T 87

1. ¥Rd % "fau™ 1 3= 17

2, AR AfEeR Tran ifdfm, 1955

3. wEfE SRR iR sEfE et
(TR femor) srfifrm, 1989

(©) Y= fossfht yeag fam = fog 7 g2 @ T W T IW g
(@) Feh R fim (@) H 1R 3
(b) A 1 AR 2
108. RA A shfee Trerivor weidt/weiftml fr=fefea & © 1,23R3
Y wH-Th B/E7 T
(@) CRISIL
B GARE 112. Tﬁ?@iﬁ;mﬁm
(c) ICRA (@) Saatad fEE § s=m = 1w
() o T 3R 3 SRR T R

(b) SHTH R FHFE T erar ford
e W, S 9RA & ey g7 @ e
Tor e B, weTERR et W@ R )

109. W ¥ & wcgd ford T & ey &7

@l RIS P R S0 O S
(b) T et R GAIER A <l Tt e B
(c) a0 o XL (d) Sa@ % 7@ AR i wm T
ifeerd S =W H o TRe S
(d) THI AR T % IH R
SDC-S-SND/1A 41 (P L0
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113. The Sixth Schedule of the Constitution of
India pertains to the administration of
tribal areas in which of the following
States?

(@
(b)
(©)

(@)

Assam, Meghalaya, Tripura and
Mizoram

Meghalaya, Tripura, Manipur and
Mizoram

Assam, Manipur, Meghalaya and
Tripura

Manipur, Meghalaya, Tripura and
Arunachal Pradesh

114. Which one of the following statements
with regard to the Ninth Schedule of
the Constitution of India is not correct?

(@)

(b)

(c)

(d)

It was inserted by the Constitution
(First Amendment) Act, 1951.

The Acts and Regulations specified
in the Ninth Schedule shall become
void on the ground that it violates a
fundamental right in Part III of the
Constitution.

The Supreme Court has the power
of judicial review of an Act included
in the Ninth Schedule on the
doctrine of basic structure.

The appropriate Legislature can
repeal or amend an Act specified in
the Ninth Schedule.

— SDC-S-SND/1A

115. Consider the following statements about
Harappan cities :

116.

L

Roads were not always absolutely
straight and did not always cross
one another at right angles.

A striking feature is the uniformity
in the average size of the bricks for
houses and for city walls.

Which of the statements given above
is/are correct? '

(@)
(b)
(c)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

Match List-I with List-II and select the
correct answer using the code given
below the Lists :

o o w >

List-I List-I
(Term) (Meaning)
Kurinchi 1. Pastoral region

Palai 2. Seashore
Neytal 3. Arid region

Mullai 4. Mountainous region
Code :
(@) A B C D
1 2 3 4
(b) A B C D
1 3 2 4
(c) A B C D
4 3 2 1
(da A B C D
4 2 3 /|
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113. ¥R & dfau™ 6t o st Ffafed § @
o Tl A S S % wEed ¥ gey
wdt 37

(a) 3T8W, HoTeE, Bgu iR fieire

(b) ererE, Bga, AR 7R s

(c) 3TEH, AT, HeTed AR Bgy

(d) W, Rerer, By iR s W

114, ¥Rd & HOgw H A ggE & owey §
Frafafed # @ SF-91 T %o we T 27

(@ W wfaum (vum wwnem)  erfufrem,
1951 % Hreaw § aftyfaa foram mam an)

(b) Tt oggEh # fafifde #% afutem o
fafm 39 aR W e @ wmem R
Jg WAy & 9F 11 & TRl Hifes
SRR 1 IGEA T B

(c) nEr w6 Regid W el erggE A
i et arfafem & =i gt
1 wifth I=IaH =ETeE % U R

(@) i srgeeh § fafafde et erfyfem
IJughk faurmesw g o1 dniftg &=
eI

SDC-S-SND/1A
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115, W & T & "ay # fefafed wedl w
ﬁﬁ]’(ﬁﬁm:

1.

ugh Toen g e § et 9 S off
AR TH-gER B BHI GEH WG
redt off |
T AMYRY foRiwar w® 7 fh wi efR
Tt A ARl h $2 1 MNEd AHR
THEAM 2

I o § A AR/ wd aA

(@) HaA 1
(b) HIA 2
(c) 1 3R 23
(d AW 1IRTE 2
116. -1 1 -1 @ gafoa $hifse o) gfat &
R faw 7T F2 w1 W@ R EE IR R
-1 Hefi-1
(vr=2) (arel)
A. PR 1. =RTE &7
B. TATg 2. |YFde
C. gard 3. Y% &
D. g% 4. vadE &=
R
@ A B C D
1" B+« 8§ .4
() A B C D
1 8 2 4
0 A°- B C D
4 8 2 1
d@ A B C D
4 2 8° 4
[P.T.O.
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117. Which of the following statements with
regard to the conduct of elections in
India is/are not correct?

1. The responsibility for the prepara-
tion of the electoral rolls is vested
in the Election Commission of
India.

2. The Model Code of Conduct comes

into existence as soon as the date
of the election is announced.

3. The laws relating to delimitation of
constituencies are made by the
Election Commission of India.

4., No election shall be called in
question except by an election
petition.

Select the correct answer using the code
given below.

(a) 3 only

(b) 1, 2 and 4

(¢) 1,2 and 3

(d) 4 only

118. Which one of the following statements
with regard to the National Commission
for Scheduled Tribes is not correct?

(@) The Union and every State
Government shall consult the
Commission on all major policy
matters affecting Scheduled Tribes.

(b) All the reports of the Commission
and its recommendations shall be
laid only before Lok Sabha.

(c) The Commission, while investiga-
ting any matter, has all the powers
of a Civil Court.

(d) The Commission has the power to
regulate its own procedures.

~ SDC-S-SND/1A -
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119. The

right to form associations and

unions is a right

(@)

(b)

(d)

guaranteed to everybody

to freedom guaranteed to citizens
only

to equality before law

to life and personal liberty

120. Some Indian territory was transferred in
2015 to Bangladesh by following which
procedure?

(@)

(b)

()

(@)

By an agreement between the
Government of India and the
Government of Bangladesh

By a legislation passed by the
Parliament amending Schedule 1 to
the Constitution of India

By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament

By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament
and ratification by sixteen State
Legislatures
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117. wrd # faterl % gawen % gy # Fefafed

FoAl H ¥ HH-A1/8 T A /87

1. Hagw GeEl IR FA H IWRIA
9Ra & Fratem o 7 fFfga 7

2. ed R wie@, gA@ H fafy A
Yo BN % WY w3 § 3 S 7

3. fratem &=t & dm-fufor @ wefia
FE ARG % FETH AER gR S
ST &1

4. Fad YA AR F AW Bl BER
fopeht frafem w wear et 3aTen = Wb

= faw e e w1 TEE R Ed W g

(@) FFd 3

(b) 1,2 3R 4

(c) 1,2 N3

(d) Faa 4

118. Tr=fufaa #oFl § @ *F-w T T TgEfa

SIS AT % oy § g8l TE 27

(@) YT SHSTRE Rl Tl R AT
wft yg@ Hifera A A §H T T
ST EhR TR | W9el ai |

(b) I K wft fard R geh Ryl
hedl Tl T F FHE @ ST |

(c) TF mm & SE-vsae A W
fufge 1 i ") wReal S &% Um
Bt B

(d) 1o =t wfkaett =t fatafm 0 6
TIfth ST % 919 Bl B

SDC-S-SND/1A

119. TEW 3R §Y 9 & AFR 6 THR H

iR B7

(@) TH ARE & T TRET AR

(b) FaA AT % fau TRfEa w@dEEa@ @
R

(c) I b THE THTA I AR

(d) Sfam 3R e @ #1 R

120. @9 2015 H FS URAT YN TR B

TaRa fem T oan @ TR ulEm o
FIET ek T e

(@) YRA THR IR AR THR & ™
T FHENG G

(b) RA & WlAgW Hl STE 1 H HMEA
FA Y GO g ITRA & Taum g

(c) HEe H FNEER! ARE H T A
T YRA % dfagw i gEs 1 F
LRIBCEEN

(d) EER = GNEFFN Wh H1 T HA §Y
IR & wfaem 6l Rt 1 % wwiew
@ Aiew T fumdest % sgame
ERQ

[ B, .0
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I A% AU g TAUT gREeRt Wied &1 7 gl WY a9 a7 @it

.. &, : SDC-S-SND TtRToT GieaehT STsRA
T wE '
T g gfe A
A {7
aHg ] A quTieh : 100
JAFIA

1. Then W B % g WTE, T 3@ glierr iRt i ugae v o @ fe e wig famn v, wer @ g
3o 9B ruan e eni} 7w AR ¥ R, @ @ wd wdewn gieeht | wqe o

2. FUAT A & fF OMR W~ #, SRE M W, Ia TR 3R wfiewr g s A, B, C a1 D =,
T ¥ T e et g o o % 9@ o feag w B Redert seftgar @ 31 et oft TR
w6 /e & fafa # sw-uas e = G smem)

3. 3@ Feu gfwe W Wy # U MU AEE F OSSR AT AFHHS
fomm 31 v gferm w ok $o 7 fad)

4, g vl gfen § 120 wwiw (ve) R e #) yes ge el o oisft T & B ) Teks ywi A U e
(W) fow g ¥ T A T TIW B G o, N 0 IW-wen | ifRa Fwn = 31 IR o Y o R oww @
31Tk YT W §, A 3@ Wegw %) Sifehd S G TETTH T | TAE WA 6 o et T # ogw g R

5. g A @il g ert & Ry M sw-we |oR e w9 RS- R e fen |

6. @t TNl F iF WM T

7. TR TEQ TR o e giEwR % RafE el % SR IW-TE W AR A1 Y HL, AR T TA0-T 6 G
It TRl & SgER FB T Iw-ww H 9 R

8. 9 S Wt VT Y - A N % I 9 T F WHIH R B IW-TAH AfEF U | YR A0
Y qhem gfRe @ S R SgET R

9. &= %MW % foru we wewr gfeem & o | wad €

10. Ted I & forg g
TE - § sefigan g Ry T e swi % g qve R smem)

(i) worF T ¥ T =R et S 8| IEfiear 3 Yok A % T fig e s e 3w % fore v g frea e
T 37 1 Teh-ToeTs eve % Y H el S|

(i) IRk Fé Tfear TF ¥ i SW A R, W W T IW A T, Ff R o Iwd A | o W 9 e R,
i oft 38 w9 & T IggEr & I @' W Ive fan smom)

(i) AR Irfieam g S A T T T S ®, <rerfq sefieER g Iw A fen s g, & 3w W % fag g qve
g fean smem|

W d% ITUSH Tg THYUr YRRt WieH @ T HEl Y a9 qeh A @it

Note : English version of the instructions is printed on the front cover of this Booklet.
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